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Choose the Correct options: x| d
1. What algebraic equation shows the relationship between the -3 9
independent and dependent variables? -2 b
() y=ax -1 3
(b)y=x+12 o | ©
(c) y =-3x I -3
(d) y=5 2 | ~6
3 | -9
X y
2. Which equation matches the table?
_ 2 6
(@) y=x
(b) y = 5x 1 5
(c)y=x-4 0 4
(dy=x+4 -1 3
-2 | 2
3. Which equation matches the table?
(8) y =X +5 x |y
(b) y = 5x 05
() y=x-5 1|6
(dx=y-5 2 7
3 8
4 | 9

4. Nancy can type 50 words per minute. Look at the table

below to write an equation that matches the data. inites Words
(@ m=50 +w
_ {rn) (w)
(b) w=50m 1 =0
(c) w=50+m > 100
(d) m=50-w
3 150
5 y=Xx-6
What is the missing number? x |y
(a) 12
(b) 10 21|15
(c) 14 18
(d) 13 15|9
137
115
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6. Choose the best explanation
(a) Taylor can write 6 words per minute 158
(b) Taylor can write 25 words per minute e
(c) Taylor can write 50 words per minute E .
. . 15
(d) Taylor can write 150 words per minute =

i

i
E

I & 1 4 % &
[T P

7. What is the rate of change (unit rate) for the following graph?

(@) 80 lJ__
(b) 20 320
(c) 40
(d) 160 _-;4“
2160
g
= 80
= x
* o 2 4 B 8 >
| J Time (h)
8. What is the constant of proportionality (in miles per hour) based on the table?
(a) 45
(b) 90 Time (hours) Distance {miles)
(c) 135
(d) 2 2 90
3 135
5 225
6 270
9. Isthe graph proportional or non proportional? , Cost of Nolan's retirement party
(a) proportional :
(b) non proportional .
(c) both

(d) neither

$60

£50

Lol

410
£30
&30

§10

s

a 10 20 30 <40 50 &0 7O B0 S0 100
Guests

Nilanjana Bhadra



10. Is the graph proportional or non proportional?

Taxi Cab

(a) proportional
(b) non proportional 6
(c) both 5]
(d) neither 5 4
EEE
1
0 ;
0 1 2 3 4 5
Distance (in miles)
11. What is the constant of Proportionality for this table? m
0 50
(@) 1/9 1 $9
(b) 9 2 $18
(c) 8
3 527
4 536
12. What is the function of the table?
(a) y=3x+1
(b) y=4x-2 x |y
(c) y=x+1 0
(d) y=x+7 WEL
4 (13
5 |16
B |19
13. What is the equation of the line? , Cost of Nolan's retirement party
(@) y =20x e
(b) y=x+20 =
(©) y=2x
d)y=x+2 e
$60

£50

Cost

£40
£30
£20

§10
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14. You earn $18 for every hour you work. Which equation represents this function?
(@) y=(18/2)x + 0
(b) y = 18x
(c) y=2x+18
(dy=18x+2

15. Bob has $150 in his savings account and saves $40 per month.
(@) 150 + 40
(b) 40x + 150
(c) 150x + 40
(d) 40x + 15
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